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ACO | POS BIT QUANT| COMPRIMENTO
(mm) UNIT | TOTAL
(cm) (cm)
S104
50A 1 12.5 7 208 1456
50A 2 12.5 16 104 1664
S106
50A 1 12.5 9 144 1296
50A 2 12.5 9 148 1332
S116
50A 1 12.5 9 148 1332
50A 2 12.5 9 144 1296
S118
50A 1 12.5 9 148 1332
50A 2 12.5 9 144 1296
S119
50A 1 12.5 9 148 1332
50A 2 12.5 10 144 1440
SA31
50A 1 10 9 124 1116
50A 2 10 9 128 1152
SA32
50A 1 10 7 84 588
50A 2 10 7 108 756
SA35
50A 1 10 9 124 1116
50A 2 10 9 128 1152
SA37
50A 1 10 9 124 1116
50A 2 10 9 128 1152
SA41
50A 1 10 9 124 1116
50A 2 10 9 128 1152
SA43
50A 1 12.5 8 134 1072
50A 2 12.5 8 138 1104
SA44
50A 1 12.5 8 134 1072
50A 2 12.5 8 138 1104
SA45
50A 1 12.5 7 134 938
50A 2 12.5 8 128 1024
RESUMO ACO CA 50-60
ACO BIT COMPR PESO
(mm) (m) (kg)
50A 10 104 66
50A 12.5 201 201
Peso Total 50A = 267 kg
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PREFEITURA M. DE MATINHOS

CNPJ: 76.017.466/0001-61
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